CHEMISTRY Question Pattern ( Class XI )

SINo | Unit Section | SectionII | SectionII | Section II Section II TOTAL
/§ Very Short Short Long
MCQ Short Answer Answer Answer
(1 mark) | Answer | Questions | Questions | Questions
Questions I 11 ( 5 marks)
( 1 mark) | (2marks) | (3 marks)
1 Some basic
concepts of - 1X1=1 2X1=2 - - 03
Chemistry
2 Structure of 1X1=1 - 2X1=2 3X1=3 “ 06
Atom
3 Classification of 1X1=1 - 3X1=3 - 04
elements and -
Periodicity
4 Chemical - - §X1=3 - 05
bonding & 1X2=2
molecular
structure
5 States of matter: - - 3X1=3 - 04
Gases and 1X1=1
Liquids
6 Thermodynamics | 1X2=2 1X1=1 - 3K1-3 - 06
7 Equilibrium 1X1=1 - - - 5X1=5 06
8 Redox reactions - - - 3X1=3 - 03
4 Hydrogen - - - 3X1=3 - 03
10 S-Block elements | 1X2=2 - - 3X1=3 - 05
i Some p-block - 2X1=2 - SR1=3 07
elements b
12 Organic - 2X1=2 3X1=3 - 07
Chemistry — basic | 1X2=2
principles
13 Hydrocarbons 1X2=2 1X1=1 - - 5X1=5 08
14 E.V.S 1X1=1 - 2X1=2 - - 03
14 4 10 2 15 70

e Question paper will have two sections
Section I : for MCQ ( Question Nos : 1 to 14)
Section I will have four groups:
VSA (1 mark ) — one sentence answer ( QuestionNo : 1to4)
SA I (2 marks ) -- ( Question No:5t09)
SA II ( 3 marks ) -- ( Question No : 10 to 18')
LA (5 marks ) -- ( Question No : 19 to 21))

e There should be no fractions in the marks distribution.
e For SA I, marks may be divided into 1+1
e For SA I, marks may be divided into 2+1
e For LA, marks may be divided into 3+2 or 4+1 .

Section I

No Internal Option

Section II VSA

Internal Option for at least any two questions

Section [I SA T

Internal Option for at least any three questions

Section II SA II

Internal Option for at least any five questions

Section II LA

Internal Option for at least any two questions
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Special credit will be given Jor answers which are brief and to the point.
Marks will be deducted for spelling mistakes, untidiness and bad handwriting.
Figures in the margin indicate Jull marks for the questions.
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( English Version )
Multiple Choice Type Questions (MCQ) (1 mark each)

What is the energy of an electron in the ground state of a hydrogen atom ?
a) 136eV . b) 136eV

c) -136¢eV d 136V.

Which is correct order of ionisation enthalpy ?

aj C<N<O«<F b) C<N<F<O

cf C<O<N<F d C<F<O<N.

Which of the following exhibits cis-trans isomerism ?

a) CH,CH=CHCH, b) CH,CH,CH=CH,
¢) (CH,),C=CH, d) CH,CH=C(CH,),.
Very Short Answer Type Questions (VSA) (1 mark each)

How many unpaired electrons are there in , 6Fe2+ ion ?

Which of the two aqueous solutions 0-1 M HCI and 01 M CH,COOH has

greater pH ?

Mention a reagent by which methane and ethene can be distinguished.
Short Answer Type-I Questions (SA-I) (2 marks each)

Boric acid is a weak acid but it acts as strong acid in presence of a

polyhydroxy compound. Why ?

First electron gain enthalpy of oxygen atom is positive but the second

electron gain enthalpy of oxygen is negative. Explain with reason.
Hess's law is only a corollary of the first law of thermodynamics. Explain.

Which of the following compounds does not respond to Lassaigne test for

nitrogen ? Answer with reason.

NH,OH.HCl, C¢HsNHOH, CgHsNH NH,.HCI
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Short Answer Type-II Questions (SA-II) (3 marks each)

1. Balance by ion-electron method and indicate oxidant reductant : 3

MnO; +HCl - Mn*" +H,0+Cl,

2. Identify A, B, Cin the following reactions : 3
alcoholic KOH
CHaCH,CH,Br — 0 - 2 . B
aq. KOH
C
Long Answer Type Questions (LA) (5 marks each)
a) Complete the following conversion : 2

Acetylene ——» Ethylene.

b) In nitration of nitrobenzene, what is the nucleophile produced ? Write a

possible mechanism for preparation of nitrobenzene from benzene. 3



